Algebra 2 Worksheet




Name:  ______________________

Section 8.4 – Rational Functions DAY THREE




Period:  __

I.
State the asymptotes, domain, and range.
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Vertical Asymptote:  _________

Horiz. Asymptote:  ___________
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Vertical Asymptote:  _________

Horiz. Asymptote:  ___________


II.
Write an equation for the function with the given asymptotes if the parent function is 
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III.
Using the graph of 
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, describe the transformations and then graph.
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Vertical Asymptote:  _________

Horiz. Asymptote:  ___________
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Vertical Asymptote:  _________

Horiz. Asymptote:  ___________


IV.
Identify the holes (if any) and the asymptotes for each rational function.
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Vert. Asymptote(s):  _________
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V.
Find the requested information.  Then graph each rational function.  Remember, at least two points for each  “branch”.  (
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Vert. Asymptote(s):  ____________

Horiz. Asymptote:  _____________

Zero(s):  _____________________


[image: image27.wmf]y

-intercept:  _________________

[image: image28.png]



	13.  
[image: image29.wmf](

)

2

4

2

fx

xx

=

-


Hole @ 
[image: image30.wmf](

)

_____,_____


Vert. Asymptote(s):  ____________

Horiz. Asymptote:  _____________
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Horiz. Asymptote:  _____________

Zero(s):  _____________________


[image: image35.wmf]y

-intercept:  _________________

[image: image36.png]



	15.  
[image: image37.wmf](

)

2

2

6

54

xx

hx

xx

--

=

-+


Hole @ 
[image: image38.wmf](

)

_____,_____


Vert. Asymptote(s):  ____________
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